Homework #4.  Due 21 Dec 2014
1) Let 3 random variables W, X, and Y be such that  X  and Y  Find the following probabilities and comment on the distribution you use to arrive at the answer:
a. P(W+X+Y > 350)
b.  where .
c. P(1.5W+X+0.5Y > 350)
2) Let the criterion variable Y be such that . With introduction of independent treatments, g (g=1,2,…,k), the criterion variable Y be such that .  In Analysis of Variance (ANOVA), the variance decomposition of  the criterion variable Y is given by the identity:  
SSTotal = SSbetween treatments + SSwithin treatment
             where the quantities  SSbetween treatments and SSwithin treatment are also independent of each other. 
       Given that   and  show the following results are true.
a. 
             where  .
b. [bookmark: _GoBack]
(Be sure to provide the theorem you use to derive this result). 





